STUDIA MATHEMATICA 197 (3) (2010)

Decomposing and twisting bisectorial operators

by

WOLFGANG ARENDT (Ulm) and ALESSANDRO ZAMBONI (Parma)

Abstract. Bisectorial operators play an important role since exactly these operators lead to a well-posed equation u'(t) = Au(t) on the entire line. The simplest example of a bisectorial operator A is obtained by taking the direct sum of an invertible generator of a bounded holomorphic semigroup and the negative of such an operator. Our main result shows that each bisectorial operator A is of this form, if we allow a more general notion of direct sum defined by an unbounded closed projection. As a consequence we can express the solution of the evolution equation on the line by an integral operator involving two semigroups associated with A.

1. Introduction. Let us first explain the motivation for investigating bisectorial operators. An invertible operator A on a Banach space X is called *bisectorial* if the imaginary line is in the resolvent set of A and $\lambda(\lambda I - A)^{-1}$ is bounded on that line. Such bisectorial operators were considered by McIntosh and Yagi [9] in the framework of spectral calculus. Mielke [10] showed in 1987 that, on Hilbert spaces, an operator A is bisectorial if and only if there exists $p \in (1, +\infty)$ such that for all $f \in L^p(\mathbb{R}; X)$ there is a unique solution $u \in W^{1,p}(\mathbb{R}; X)$ of

(1.1)
$$u'(t) = Au(t) + f(t), \qquad t \in \mathbb{R}.$$

In that case, this property holds for all $p \in (1, +\infty)$. Thus, Mielke proved a result on maximal regularity for the evolution equation on the line for bisectorial operators on Hilbert space. He applied such results to non-linear equations and, in particular, to prove the existence of central manifolds. Mielke's result on maximal regularity was generalized to Banach spaces by Schweiker [11], and in [4] with the help of the operator-valued Fourier multiplier theorem due to Weis. Maximal regularity in Hölder spaces was considered in [1].

Most interesting is the spectral theory of bisectorial operators. An interesting problem is whether it is possible to decompose the Banach space X

²⁰¹⁰ Mathematics Subject Classification: Primary 47D06; Secondary 47A60.

Key words and phrases: bisectorial operators, spectral decomposition, evolution equations on the line, functional calculus, spectral projection.

with the help of a spectral projection commuting with A so that the operator is the direct sum of an invertible generator of a bounded holomorphic semigroup and the negative of such an operator. There is always a natural spectral projection P_+ (see Section 3) defined by a contour integral, but this projection is unbounded in general as was shown by McIntosh and Yagi [9] (see also Dore and Venni [6]).

However, the spectral projection P_+ is always closed. This means that its kernel and its image are closed subspaces of X. Their sum is dense in X, if A is densely defined, but this sum is possibly different from the entire space. The part of A in these subspaces is the generator or the negative of the generator of a bounded holomorphic semigroup. In our main result we show that "twisting" A by its spectral projection, we obtain the generator of a bounded holomorphic semigroup on the entire space X. This is surprising since it shows that each bisectorial operator is, in fact, the "twisted version" (see Definition 2.9) of a sectorial operator.

The spectral projection was investigated before by Sybille Schweiker [11]. In particular, she associated with a bisectorial operator two semigroups which operate on the entire space X. These semigroups are holomorphic but singular as time goes to 0. However, the singularity can never be worse than logarithmic, as Schweiker showed. We now obtain these semigroups very simply from the semigroup generated by the twisted version of A. They allow one to give a representation formula for the solutions of (1.1) which are exploited further in [13].

Our main result (see Theorem 3.4) also holds for non-densely defined operators. For simplicity we do not consider more general operators which are merely bisectorial outside a compact set as in [3], where a spectral theory for these operators is developed.

2. Twisting bisectorial operators by unbounded projections. Let X be a Banach space. We start by defining unbounded projections.

DEFINITION 2.1. A projection P on X is a linear operator $P: D(P) \subset X \to X$ such that $P^2 = P$, i.e. $Px \in D(P)$ and $P^2x = Px$ for all $x \in D(P)$.

If P is a projection on X, then

$$im(P) := \{Px : x \in D(P)\} = \{x \in D(P) : Px = x\},\$$
$$ker(P) := \{x \in D(P) : Px = 0\}$$

are subspaces of X such that $im(P) \cap ker(P) = \{0\}$. Moreover, it is easy to prove the following result.

LEMMA 2.2. A projection P on X is closed if and only if ker(P) and im(P) are closed subspaces of X.

Conversely, if X_1 and X_2 are subspaces of X such that $X_1 \cap X_2 = \{0\}$, then letting

 $D(P) := X_1 \oplus X_2, \quad P(x_1 + x_2) := x_1, \quad x_1 \in X_1, x_2 \in X_2,$

defines a projection on X with $im(P) = X_1$ and $ker(P) = X_2$. This projection is closed if and only if X_1 and X_2 are closed.

REMARK 2.3 (Closability of projections).

- (i) If P is closable, then \overline{P} is a projection.
- (ii) Let $X_1, X_2 \subset X$ be subspaces such that $X_1 \cap X_2 = \{0\}$. Then the projection onto X_1 defined above is closable if and only if $\overline{X_1} \cap \overline{X_2} = \{0\}$.
- (iii) Let X_1 be a dense subspace of X which is different from X. Let X_2 be an algebraic complement. Then the projection onto X_1 with domain X is not closable.
- (iv) Let A be a densely defined invertible operator which is not bounded. Let $x' \in X' \setminus D(A')$, and let $u \in D(A)$ be such that $\langle x', Au \rangle = 1$. Then $Px = \langle Ax, x' \rangle u$, with domain D(P) = D(A), defines an unbounded non-closable projection.

Now, let A be an operator on X with non-empty resolvent set $\rho(A)$.

PROPOSITION 2.4. Let P be a projection on X such that $D(A) \subset D(P)$. Then the following statements are equivalent.

- (i) $PR(\mu, A)x = R(\mu, A)Px$ for all $x \in D(P)$ and some $\mu \in \rho(A)$.
- (ii) If $y \in D(A)$ is such that $Ay \in D(P)$, then $Py \in D(A)$ and PAy = APy.
- (iii) $PR(\mu, A)x = R(\mu, A)Px$, for all $x \in D(P)$ and $\mu \in \rho(A)$.

Proof. (i) \Rightarrow (ii). Let $y \in D(A)$ be such that $Ay \in D(P)$. Then $x = \mu y - Ay \in D(P)$ and, by (i), $Py = PR(\mu, A)x = R(\mu, A)Px \in D(A)$. Moreover, $(\mu - A)Py = Px = \mu Py - PAy$. Thus APy = PAy.

(ii) \Rightarrow (iii). Let $\mu \in \rho(A)$, $x \in D(P)$ and $y = R(\mu, A)x$. Then $y \in D(A)$ and $\mu y - Ay = x$. Hence $Ay \in D(P)$. By assumption it follows that $Py \in D(A)$ and $(\mu - A)Py = P(\mu - A)y = Px$. Hence $R(\mu, A)Px = Py = PR(\mu, A)x$.

DEFINITION 2.5. Let P be a projection on X and let $A : D(A) \subset X \to X$ be an operator with $\rho(A) \neq \emptyset$. We say that P commutes with A if $D(A) \subset D(P)$, and the equivalent conditions (i)–(iii) of Proposition 2.4 are satisfied.

Now let us give an example of a closed, unbounded and commuting projection.

EXAMPLE 2.6. Let

$$X := \left\{ x = (x_n)_{n \in \mathbb{N}} : \sum_{n=1}^{+\infty} \left\{ \frac{1}{n^2} \left(|x_{2n}|^2 + |x_{2n-1}|^2 \right) + |x_{2n} - x_{2n-1}|^2 \right\} < +\infty \right\}.$$

Then X is a Hilbert space with respect to the scalar product

$$(x \mid y) := \sum_{n=1}^{+\infty} \left\{ \frac{1}{n^2} \left(x_{2n} \overline{y}_{2n} + x_{2n-1} \overline{y}_{2n-1} \right) + \left(x_{2n} - x_{2n-1} \right) \left(\overline{y}_{2n} - \overline{y}_{2n-1} \right) \right\}.$$

Define the operator A on X by

$$(Ax)_{2n} = -nx_{2n}, \quad (Ax)_{2n-1} = -nx_{2n-1},$$

with maximal domain in X, i.e.,

$$D(A) = \left\{ x = (x_n)_{n \in \mathbb{N}} : \sum_{n=1}^{+\infty} \{ |x_{2n}|^2 + |x_{2n-1}|^2 + n^2 |x_{2n} - x_{2n-1}|^2 \} < +\infty \right\}.$$

Then A is invertible. Let $X_+ := \{x \in X : x_{2n-1} = 0, n \in \mathbb{N}\}$ and $X_- := \{x \in X : x_{2n} = 0, n \in \mathbb{N}\}$. Then X_+ and X_- are closed subspaces of X (both isomorphic to ℓ_2) such that $X_+ \cap X_- = \{0\}$. The constant-1 sequence belongs to X but not to $X_+ \oplus X_-$. Let P be the projection given by $D(P) = X_+ \oplus X_-$,

$$(Px)_{2n} = x_{2n}, \quad (Px)_{2n-1} = 0.$$

Then P is closed and it is immediate to check that it commutes with A.

Now we introduce the basic notion of this paper.

DEFINITION 2.7. A closed, linear operator $A: D(A) \subset X \to X$ is called *bisectorial* if

(i)
$$i\mathbb{R} \setminus \{0\} \subset \rho(A),$$

(ii) $\sup_{s \in \mathbb{R}} \|sR(is, A)\|_{\mathcal{L}(X)} < +\infty.$

For $0 < \theta < \pi/2$ we consider the open horizontal sector $\Sigma_{\theta} := \{re^{i\alpha} : r > 0, |\alpha| < \theta\}$, and the open vertical bisector $\Sigma'_{\theta} := \mathbb{C} \setminus \{\overline{\Sigma_{\theta}} \cup (-\overline{\Sigma_{\theta}})\}$. If A is a bisectorial operator on X then, by the usual geometric series expansion, one obtains $\omega \in (0, \pi/2)$ such that

(2.1)
$$\Sigma'_{\omega} \subset \rho(A),$$

and

(2.2)
$$\sup_{\lambda \in \Sigma'_{\omega}} \|\lambda R(\lambda, A)\|_{\mathcal{L}(X)} < +\infty.$$

We say that an operator A generates a bounded holomorphic semigroup if $\lambda \in \rho(A)$ for $\operatorname{Re}(\lambda) > 0$ and

$$\sup_{\operatorname{Re}(\lambda)>0} \|\lambda R(\lambda, A)\|_{\mathcal{L}(X)} < +\infty.$$

In fact, we can then construct a semigroup $(e^{tA})_{t>0} \subset \mathcal{L}(X)$, which has a bounded and holomorphic extension to a sector Σ_{θ} for some $0 < \theta < \pi/2$. This semigroup is a C_0 -semigroup if and only if A is densely defined. Moreover, A is invertible if and only if the semigroup is *exponentially stable*, i.e. if

$$\|e^{tA}\|_{\mathcal{L}(X)} \le M e^{-\varepsilon t}, \quad t > 0,$$

for some constants $\varepsilon, M > 0$. We refer to the monographs [2] and [8] for these properties. Thus, if A generates a bounded holomorphic semigroup, then A is, in particular, bisectorial.

EXAMPLE 2.8. The operator A defined in Example 2.6 generates a bounded holomorphic C_0 -semigroup on X. Indeed, for $\operatorname{Re}(\lambda) \geq 0$, the resolvent of A is given by $R(\lambda, A)y = \tilde{x}$, with

$$\tilde{x}_{2n} = \frac{1}{\lambda + n} y_{2n}, \quad \tilde{x}_{2n-1} = \frac{1}{\lambda + n} y_{2n-1}$$

Hence,

 $\|\lambda \tilde{x}\|$

$$\leq |\lambda| \left(\sum_{n=1}^{+\infty} \left\{ \frac{1}{|\lambda+n|^2} \frac{1}{n^2} \left(|y_{2n}|^2 + |y_{2n-1}|^2 \right) + \frac{1}{|\lambda+n|^2} |y_{2n} - y_{2n-1}|^2 \right\} \right)^{1/2}$$

$$\leq \sup_{\operatorname{Re}(\lambda) \geq 0, n \in \mathbb{N}} \frac{|\lambda|}{|\lambda+n|} \|y\|.$$

Moreover, since the operator A is invertible, it generates a semigroup which is also exponentially stable.

In the following, let A be an invertible (i.e. $0 \in \rho(A)$) bisectorial operator on X, and let P be a closed projection on X commuting with A. Then $X_+ := \operatorname{im}(P)$ and $X_- := \operatorname{ker}(P)$ are closed subspace on X. Consider the parts A_+ and A_- of A on X_+ and X_- , respectively, i.e.

$$D(A_{\pm}) = \{ x \in D(A) \cap X_{\pm} : Ax \in X_{\pm} \}, \quad A_{\pm}x = Ax, \quad x \in D(A_{\pm}).$$

Then it follows from Proposition 2.4 that A_+ and A_- are both bisectorial on X_+ and X_- , respectively.

Now, let $Z := X_+ \oplus X_-$ with norm $||x_1 + x_2||_Z := ||x_1||_X + ||x_2||_X$, where $x_1 \in X_+$ and $x_2 \in X_-$. Then Z is a Banach space such that

$$(2.3) D(A) \hookrightarrow Z \hookrightarrow X,$$

if D(A) is considered as a Banach space with respect to the graph norm $||x||_{D(A)} := ||Ax||_X$ (recall that $0 \in \rho(A)$). Moreover, the projections

$$P_+ = P_{|Z}$$
 and $P_- = (I - P_+)_{|Z}$

are bounded as operators on Z.

Now we can define the *twisted operator* A.

DEFINITION 2.9. Let $A : D(A) \subset X \to X$ be an invertible bisectorial operator and let P be a projection on X commuting with A. Define the operator \tilde{A} on X by

 $D(\tilde{A}) := \{x \in Z : -P_+x + P_-x \in D(A)\}, \quad \tilde{A}x := A(-P_+x + P_-x).$ We say that \tilde{A} is the operator A twisted by P or that \tilde{A} is the P-twisted version of A.

The part $\tilde{A}_{|Z}$ of \tilde{A} in Z is just the direct sum of $-A_+$ and A_- . Thus $\tilde{A}_{|Z}$ is a bisectorial operator on Z. For \tilde{A} itself we can show the following.

PROPOSITION 2.10. In the setting of Definition 2.9, let $\lambda \in \tilde{\rho} := \rho(A) \cap \rho(-A)$. Then $\lambda \in \rho(\tilde{A})$ and

$$R(\lambda, \tilde{A}) = P_{+}R(\lambda, -A) + P_{-}R(\lambda, A).$$

In particular, $i\mathbb{R} \subset \rho(\tilde{A})$. Moreover,

(2.4)
$$\sup_{s \in \mathbb{R}} \|R(is, \tilde{A})\|_{\mathcal{L}(X)} < +\infty.$$

Finally, $\sigma(\tilde{A}) = -\sigma(A_+) \cup \sigma(A_-).$

Proof. Let $\lambda \in \tilde{\rho}$. Define

$$\tilde{R}(\lambda) := P_+ R(\lambda, -A) + P_- R(\lambda, A).$$

Then

$$(2.5) \quad -P_{+}\tilde{R}(\lambda) + P_{-}\tilde{R}(\lambda) = -P_{+}R(\lambda, -A) + P_{-}R(\lambda, A)$$
$$= -P_{+}R(\lambda, -A) - P_{+}R(\lambda, A) + R(\lambda, A)$$
$$= P_{+}(R(-\lambda, A) - R(\lambda, A)) + R(\lambda, A)$$
$$= 2\lambda P_{+}R(-\lambda, A)R(\lambda, A) + R(\lambda, A)$$
$$= 2\lambda R(-\lambda, A)P_{+}R(\lambda, A) + R(\lambda, A),$$

and the operator in (2.6) maps X into D(A). Thus, $\tilde{R}(\lambda)$ maps X into $D(\tilde{A})$ and

$$\begin{aligned} (2.6) \quad & (\lambda - \tilde{A})\tilde{R}(\lambda) = \lambda \tilde{R}(\lambda) - A(-P_{+}\tilde{R}(\lambda) + P_{-}\tilde{R}(\lambda)) \\ & = \lambda \tilde{R}(\lambda) + AP_{+}(R(\lambda, -A) + R(\lambda, A)) - AR(\lambda, A) \\ & = \lambda P_{+}(R(\lambda, -A) - R(\lambda, A)) + \lambda R(\lambda, A) \\ & + AP_{+}(R(\lambda, -A) - R(\lambda, A)) - AR(\lambda, A) \\ & = P_{+}\{\lambda R(\lambda, -A) - \lambda R(\lambda, A) + AR(\lambda, -A) + AR(\lambda, A)\} + I = I. \end{aligned}$$
Now, let $y \in D(\tilde{A})$, i.e. $y \in Z$ and $-P_{+}y + P_{-}y \in D(A)$. Then
$$\tilde{R}(\lambda)\tilde{A}y = (P_{+}R(\lambda, -A) + P_{-}R(\lambda, A))A(-P_{+}y + P_{-}y) \\ & = AR(\lambda, -A)(-P_{+}y) + AR(\lambda, A)P_{-}y \\ & = A(-P_{+}R(\lambda, -A)y + P_{-}R(\lambda, A)y) = \tilde{A}\tilde{R}(\lambda)y. \end{aligned}$$

This shows, by (2.6), that

$$\tilde{R}(\lambda)(\lambda - \tilde{A})y = (\lambda - \tilde{A})\tilde{R}(\lambda)y = y, \quad y \in D(\tilde{A}),$$

and the first claim is proved.

It follows from [2, Proposition 3.10.3] that $\sigma(\tilde{A}) = \sigma(\tilde{A}_{|Z})$. But $\tilde{A}_{|Z}$ is the direct sum of $-A_+$ and A_- . Hence $\sigma(\tilde{A}_{|Z}) = -\sigma(A_+) \cup \sigma(A_-)$.

Finally, in order to prove (2.4), observe first that

$$isR(is, \tilde{A}_{|Z}) = \tilde{A}_{|Z}R(is, \tilde{A}_{|Z}) + I_{|Z}.$$

Thus, $\sup_{s \in \mathbb{R}} \|\tilde{A}_{|Z}R(is, \tilde{A}_{|Z})\|_{\mathcal{L}(Z)} < +\infty$, since $\tilde{A}_{|Z}$ is bisectorial. Now consider $D(\tilde{A})$ with the graph norm $\|x\|_{D(\tilde{A})} := \|\tilde{A}x\|_X$. Then $D(\tilde{A})$ is a Banach space and the embeddings

$$(2.7) D(A) \hookrightarrow Z \hookrightarrow X$$

are continuous. This follows immediately from the closed graph theorem. Thus, with appropriate constants $C_1, C_2, C_3 > 0$ we have, for any $x \in X$ and any $s \in \mathbb{R}$,

$$\begin{split} \|R(is,\tilde{A})x\|_{X} &\leq C_{1}\|R(is,\tilde{A})x\|_{Z} = C_{1}\|\tilde{A}R(is,\tilde{A})\tilde{A}^{-1}x\|_{Z} \\ &\leq C_{1}\sup_{s\in\mathbb{R}}\|\tilde{A}R(is,\tilde{A})\|_{\mathcal{L}(Z)}\|\tilde{A}^{-1}x\|_{Z} \leq C_{2}\|\tilde{A}^{-1}x\|_{Z} \\ &\leq C_{3}\|\tilde{A}^{-1}x\|_{D(\tilde{A})} = C_{3}\|x\|_{X}. \quad \blacksquare \end{split}$$

The results in Proposition 2.10 and, in particular, estimate (2.4), do not allow us to conclude that \tilde{A} is bisectorial in general. In fact, this may not true, and the following example shows that estimate (2.4) cannot be essentially improved.

EXAMPLE 2.11. Consider the operator A and the projection P defined in Example 2.6. We have shown that P commutes with A, so that we can define \tilde{A} , the P-twisted version of A. By the definition,

$$D(\tilde{A}) = \left\{ x = (x_n)_{n \in \mathbb{N}} : \sum_{n=1}^{+\infty} \{ |x_{2n}|^2 + |x_{2n-1}|^2 + n^2 |x_{2n} + x_{2n-1}|^2 \} < +\infty \right\},\$$

and

 $(\tilde{A}x)_{2n} = nx_{2n}, \quad (\tilde{A}x)_{2n-1} = -nx_{2n-1}.$

It is not difficult to see that $\sigma(\tilde{A}) = \mathbb{N} \cup (-\mathbb{N})$, and that

$$(R(\lambda, \tilde{A})y)_{2n} = \frac{1}{\lambda - n}y_{2n}, \quad (R(\lambda, \tilde{A})y)_{2n-1} = \frac{1}{\lambda + n}y_{2n-1},$$

for $\lambda \notin \mathbb{N} \cup (-\mathbb{N})$. Now, let $e_k = (0, \ldots, 0, 1, 0, \ldots)$ be the kth unit vector

and $v_k = \frac{k}{\sqrt{2}}(e_{2k} + e_{2k-1})$. Then $||v_k|| = 1$. Let

$$u_k := R(ik, \tilde{A})v_k = \frac{k}{\sqrt{2}} \left(\frac{1}{ik-k} e_{2k} + \frac{1}{ik+k} e_{2k-1} \right)$$
$$= \frac{1}{\sqrt{2}} \left(\frac{1}{i-1} e_{2k} + \frac{1}{i+1} e_{2k-1} \right).$$

Then

$$||u_k||^2 \ge \frac{1}{2} \left| \frac{1}{i-1} - \frac{1}{i+1} \right|^2 = \frac{1}{2}.$$

Hence $||R(ik, \tilde{A})||_{\mathcal{L}(X)} \ge 1/\sqrt{2}$ for all $k \in \mathbb{N}$, and

$$\sup_{s \in \mathbb{R}} \|sR(is, \tilde{A})\|_{\mathcal{L}(X)} = +\infty.$$

Thus \tilde{A} is not bisectorial.

3. Twisting by the positive spectral projection. The simplest way to obtain a bisectorial operator is the following. Assume that $X = X_+ \oplus X_-$ is the direct sum of two closed subspaces. Let $-A_+$ and A_- be invertible generators of bounded and holomorphic semigroups on X_+ and X_- , respectively, and let $A := A_+ \oplus A_-$. Then A is bisectorial and, moreover, A_+ and A_- are the parts of A in X_+ and X_- , respectively. We want to give this simple situation a name.

DEFINITION 3.1. A bisectorial operator A on X is called *decompos*able if X is the direct sum $X = X_+ \oplus X_-$ of closed subspaces such that $R(is, A)X_+ \subset X_+$ and $R(is, A)X_- \subset X_-$ for all $s \in \mathbb{R} \setminus \{0\}$ and

$$\sigma(A_+) \subset \{\lambda \in \mathbb{C} : \operatorname{Re}(\lambda) \ge 0\}, \quad \sigma(A_-) \subset \{\lambda \in \mathbb{C} : \operatorname{Re}(\lambda) \ge 0\},$$

where A_+ is the part of A in X_+ and A_- is the part of A in X_- .

It is not difficult to see the following (see e.g. the appendix of [8]).

PROPOSITION 3.2. Let A be the generator of a holomorphic semigroup such that $i\mathbb{R} \subset \rho(A)$. Then A is bisectorial and decomposable.

Even on Hilbert spaces there exist indecomposable invertible bisectorial operators. This was shown by McIntosh and Yagi (see [9, Theorem 3]).

THEOREM 3.3 (McIntosh, Yagi). Let X be a separable Hilbert space. Then there exists an invertible bisectorial operator A which is not decomposable.

Our aim is to prove the following.

THEOREM 3.4. Let $A : D(A) \subset X \to X$ be an invertible bisectorial operator. Then there exists a (possibly unbounded) projection P_+ , commuting

with A, such that the operator \tilde{A} obtained by twisting A by P_+ generates a bounded holomorphic semigroup.

Theorem 3.4, whose proof will be given at the end of this section, says that if we allow a more general notion of direct sum, defined by a (possibly) unbounded projection, any invertible bisectorial operator can be obtained by an unbounded decomposition. In fact, we have $A = \tilde{A}$ and so A is the twisted version of \tilde{A} , which is the generator of a bounded holomorphic semigroup.

In order to prove Theorem 3.4, we start by defining the projection P_+ which will fulfill the requirement.

Let A be an invertible bisectorial operator and let $0 < \omega < \pi/2$ be such that $\Sigma'_{\omega} \subset \rho(A)$ and $\sup_{\lambda \in \Sigma'_{\omega}} \|\lambda R(\lambda, A)\|_{\mathcal{L}(X)} < +\infty$ (see (2.1) and (2.2)). Let $\varepsilon > 0$ be such that $\{z \in \mathbb{C} : |z| \le \varepsilon\} \subset \rho(A)$. For $\omega < \theta < \pi/2$ we consider the contour $\Gamma^+_{\theta,\varepsilon}$ which consists of the line $\{re^{-i\theta} : r > \varepsilon\}$, the arc $\{\varepsilon e^{i\alpha} : -\theta \le \alpha \le \theta\}$, and the line $\{re^{i\theta} : r > \varepsilon\}$ oriented downwards. Let

$$Q_{+} := \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\lambda} \, d\lambda.$$

Then $Q_+ \in \mathcal{L}(X)$ and, by Cauchy's Theorem, it does not depend on the choice of θ and $\varepsilon > 0$ satisfying the requirement above.

PROPOSITION 3.5. Let $P_+ := AQ_+$ with domain $D(P_+) := \{x \in X : Q_+x \in D(A)\}$. Then P_+ is a closed projection commuting with A.

Proof. Let $\omega < \theta' < \theta < \pi/2$, and $0 < \varepsilon < \varepsilon'$ be such that $\{z \in \mathbb{C} : |z| \le \varepsilon'\} \subset \rho(A)$. Then, using Cauchy's Theorem and the resolvent identity, we get

$$\begin{split} (Q_{+})^{2} &= \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\lambda} \bigg(\frac{1}{2\pi i} \int_{\Gamma_{\theta',\varepsilon'}^{+}} \frac{1}{\lambda'(\lambda'-\lambda)} d\lambda' \bigg) d\lambda \\ &- \frac{1}{2\pi i} \int_{\Gamma_{\theta',\varepsilon'}^{+}} \frac{R(\lambda',A)}{\lambda'} \bigg(\frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{1}{\lambda(\lambda'-\lambda)} d\lambda \bigg) d\lambda' \\ &= \frac{1}{2\pi i} \int_{\Gamma_{\theta',\varepsilon'}^{+}} \frac{R(\lambda',A)}{(\lambda')^{2}} d\lambda' = \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\lambda^{2}} d\lambda. \end{split}$$

Hence $Q_+ \in \mathcal{L}(X; D(A))$ and

$$A(Q_{+})^{2} = \frac{1}{2\pi i} \int_{\Gamma_{\varepsilon,\theta}^{+}} \frac{\lambda R(\lambda, A) - I}{\lambda^{2}} d\lambda = Q_{+}$$

Now, let $x \in D(P_+)$, i.e. $Q_+x \in D(A)$. Then

$$Q_+P_+x = Q_+AQ_+x = A(Q_+)^2x = Q_+x.$$

Hence $P_+ x \in D(P_+)$ and

$$(P_{+})^{2}x = AQ_{+}P_{+}x = AQ_{+}x = P_{+}x.$$

Now, let $x \in D(A)$ be such that $Ax \in D(P_+)$, i.e. $Q_+Ax \in D(A)$. Then

$$Q_{+}Ax = \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\lambda} Ax \, d\lambda = \frac{1}{2\pi i} A \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\lambda} x \, d\lambda = AQ_{+}x.$$

Therefore $P_+x = AQ_+x = Q_+Ax \in D(A)$ and, by direct computation, it follows that $AP_+x = P_+Ax$ and so, by Proposition 2.4, P_+ commutes with A.

Now, let $X_+ := im(P)$. Then the following holds.

PROPOSITION 3.6. Let A_+ be the part of A in X_+ . Then $\sigma(A_+) \subset \{\mu \in \mathbb{C} : \operatorname{Re}(\mu) > 0\}$ and

(3.1)
$$R(\mu, A_{+}) = \frac{1}{2\pi i} \int_{\Gamma_{\theta, \varepsilon}^{+}} \frac{R(\lambda, A)}{\mu - \lambda} d\lambda, \quad \operatorname{Re}(\mu) < 0.$$

Moreover, there exists $M_+ > 0$ such that

(3.2)
$$||R(\mu, A_+)||_{\mathcal{L}(X_+)} \le M_+, \quad \operatorname{Re}(\mu) < 0.$$

Proof. It follows from Proposition 2.4 that $\rho(A) \subset \rho(A_+)$ and $R(\mu, A)_{|X_+} = R(\mu, A_+)$ for all $\mu \in \rho(A)$. Now, let $\operatorname{Re}(\mu) < 0$ and, in order to show that $\mu \in \rho(A_+)$, define

$$R_{+} := \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\mu - \lambda} \, d\lambda.$$

Then $R_+ \in \mathcal{L}(X)$ and, adapting the computations in the proof of Proposition 3.5, it follows that $R_+Q_+ \in \mathcal{L}(X; D(A))$ and that

$$(\mu - A)R_+Q_+ = Q_+.$$

Observe that, if $x \in D(A)$, then $R_+x \in D(A)$ and $AR_+x = R_+Ax$. It follows that $(\mu - A)R_+P_+x = P_+x$ for all $x \in D(P_+)$ and $R_+(\mu - A)x = x$ for all $x \in D(A) \cap X_+$. This shows that $\mu \in \rho(A_+)$ and $R(\mu, A_+) = R_+$.

Finally, formula (3.1) and the bisectoriality of A yield the existence of a constant C > 0 such that

$$\|R(\mu, A_{+})\| \leq \int_{\Gamma_{\theta, \varepsilon}^{+}} \frac{\|\lambda R(\lambda, A)\|}{|\lambda| |\mu - \lambda|} |d\lambda| \leq C \int_{\Gamma_{\theta, \varepsilon}^{+}} \frac{|d\lambda|}{|\lambda|^{2}} =: M_{+},$$

and conclude the proof.

Since the spectrum of A_+ is included in the right half-plane, we call P_+ the positive spectral projection associated with A.

Similarly, we let $\Gamma_{\theta,\varepsilon}^- := -\Gamma_{\theta,\varepsilon}^+$ be oriented upwards,

$$Q_{-} := \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{-}} \frac{R(\lambda,A)}{\lambda} \, d\lambda,$$

and $P_{-} := AQ_{-}$. Observing that, for any integrable $f: \Gamma_{\theta,\varepsilon}^{+} \to X$, we have

$$-\int_{\Gamma_{\theta,\varepsilon}^{-}} f(-\lambda) \, d\lambda = \int_{\Gamma_{\theta,\varepsilon}^{+}} f(\lambda) \, d\lambda,$$

and taking into account that $R(\lambda, -A) = -R(-\lambda, A)$ for any $\lambda \in \mathbb{C}$, it follows immediately that P_{-} is the positive spectral projection associated with -A.

Then it follows from the residue theorem that $Q_+ + Q_- = A^{-1}$, and so $D(P_+) = D(P_-)$ and $P_+ = I - P_-$ in the domain of the projections.

Defining $X_{-} := \ker(P_{+})$, and letting A_{-} be the part of A in X_{-} , we deduce from Proposition 3.6 that $\sigma(A_{-})$ is in the left half-plane, and that there exists $M_{-} > 0$ such that

(3.3)
$$||R(\mu, A_{-})||_{\mathcal{L}(X_{-})} \le M_{-}, \quad \operatorname{Re}(\mu) > 0.$$

Next we take advantage of the following theorem.

THEOREM 3.7 (Phragmén–Lindelöf, [5, Corollary 6.4.4]). Let $\mathbb{C}_+ := \{z \in \mathbb{C} : \operatorname{Re}(z) > 0\}$, and let $h : \overline{\mathbb{C}_+} \to X$ be continuous and holomorphic on \mathbb{C}_+ . Assume that, for each $\delta > 0$, there exists C > 0 such that

 $\|h(z)\| \le Ce^{\delta|z|}, \quad z \in \mathbb{C}_+.$

Moreover, assume that

$$\sup_{s\in\mathbb{R}}\|h(is)\|<+\infty.$$

Then there exists M > 0 such that $||h(z)|| \leq M$ for all $z \in \mathbb{C}_+$.

Define, for any $\mu \in \overline{\mathbb{C}_+}$,

$$h^{-}(\mu) := \mu R(\mu, A_{-}).$$

Then estimate (3.3), Theorem 3.7, and the bisectoriality of A_{-} (see Section 2) imply that there exists $\overline{M}_{-} > 0$ such that

(3.4)
$$\|\mu R(\mu, A_{-})\|_{\mathcal{L}(X_{-})} \le \overline{M}_{-}, \quad \operatorname{Re}(\mu) > 0.$$

Moreover, Theorem 3.7 still holds, of course, if we replace everywhere \mathbb{C}_+ with $\mathbb{C}_- := \{z \in \mathbb{C} : \operatorname{Re}(z) < 0\}$. Then, defining for any $\mu \in \overline{\mathbb{C}_-}$,

$$h^+(\mu) := \mu R(\mu, A_+),$$

and using also estimate (3.2) and the bisectoriality of A_+ , we find that there exists $\overline{M}_+ > 0$ such that

(3.5)
$$\|\mu R(\mu, A_+)\|_{\mathcal{L}(X_+)} \le M_+, \quad \operatorname{Re}(\mu) < 0.$$

Now consider the operator \tilde{A} obtained by twisting A by P_+ . Then, by Proposition 2.10, one has

$$\sigma(\tilde{A}) = -\sigma(A_+) \cup \sigma(A_-) \subset \{\lambda \in \mathbb{C} : \operatorname{Re}(\lambda) < 0\}.$$

Furthermore, (3.4) and (3.5) imply that there exists $\overline{M} > 0$ such that

$$\|\mu R(\mu, \tilde{A}_{|Z})\|_{\mathcal{L}(Z)} \le \overline{M}$$

for any $\mu \in \mathbb{C}_+$. This implies that

$$||R(\mu, A)||_{\mathcal{L}(X)} \le M_1, \quad \mu \in \mathbb{C}_+,$$

for some $M_1 > 0$. Indeed, taking embeddings (2.7) into account, and recalling that $0 \in \rho(\tilde{A})$, we have with appropriate constants $C_1, C_2 > 0$, for any $x \in X$ and any $\mu \in \mathbb{C}^+$,

$$(3.6) ||R(\mu, \tilde{A})x||_X \le C_1 ||R(\mu, \tilde{A})x||_Z = C_1 ||\tilde{A}R(\mu, \tilde{A})\tilde{A}^{-1}x||_Z = C_1 ||\mu R(\mu, \tilde{A})\tilde{A}^{-1}x - \tilde{A}^{-1}x||_Z \le C_1(\overline{M}+1) ||\tilde{A}^{-1}x||_Z \le C_1 C_2(\overline{M}+1) ||\tilde{A}^{-1}x||_{D(\tilde{A})} = C_1 C_2(\overline{M}+1) ||x||_X.$$

In particular, $||R(is, \tilde{A})||_{\mathcal{L}(X)} \leq M_1$ for all $s \in \mathbb{R}$ (as we already proved in Proposition 2.10). In the context here, where the positive spectral projection is used, we can improve the estimate.

PROPOSITION 3.8. Let \tilde{A} be the P_+ -twisted version of an invertible bisectorial operator A, where P_+ is the positive spectral projection defined in Proposition 3.5. Then

(3.7)
$$\sup_{s \in \mathbb{R}} \|sR(is, \tilde{A})\|_{\mathcal{L}(X)} < +\infty.$$

Proof. For $\mu \in \rho(A) \cap \rho(-A)$ we have

$$R(\mu, \hat{A}) = P_{+}R(\mu, -A) + P_{-}R(\mu, A) = P_{+}(R(\mu, -A) - R(\mu, A)) + R(\mu, A)$$

= $S(\mu) + R(\mu, A),$

where $S(\mu) := P_+(R(\mu, -A) - R(\mu, A))$. Since A is bisectorial we only have to show the assertion for $S(\mu)$. For this purpose, let μ be to the left of $\Gamma_{\theta,\varepsilon}^+$. Then, by Cauchy's Theorem,

$$\begin{split} Q_{+}R(\mu,A) &= \frac{1}{2\pi i} \int\limits_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)R(\mu,A)}{\lambda} \, d\lambda = \frac{1}{2\pi i} \int\limits_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A) - R(\mu,A)}{\lambda(\mu-\lambda)} \, d\lambda \\ &= \frac{1}{2\pi i} \int\limits_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\lambda(\mu-\lambda)} \, d\lambda. \end{split}$$

Since $P_+R(\mu, A) = AQ_+R(\mu, A)$ and $AR(\lambda, A) = \lambda R(\lambda, A) - I$ for any

 $\lambda \in \rho(A)$, we have

$$\begin{split} P_{+}R(\mu,A) &= \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{AR(\lambda,A)}{\lambda(\mu-\lambda)} d\lambda \\ &= \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\mu-\lambda} d\lambda - \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{d\lambda}{\lambda(\mu-\lambda)} \\ &= \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\mu-\lambda} d\lambda. \end{split}$$

Now let μ be to the left of the curve Γ' consisting of the lines $\{re^{i\theta} : r \ge 0\}$ and $\{re^{-i\theta} : r \ge 0\}$ oriented downwards. Then, by Cauchy's Theorem, we have

$$P_{+}R(\mu, A) = \frac{1}{2\pi i} \int_{\Gamma'} \frac{R(\lambda, A)}{\mu - \lambda} d\lambda,$$

and, if $-\mu$ is to the left of Γ' , then

$$\begin{split} P_{+}R(\mu,-A) &= -P_{+}R(-\mu,A) = -\frac{1}{2\pi i} \int_{\Gamma'} \frac{R(\lambda,A)}{-\mu-\lambda} \, d\lambda \\ &= \frac{1}{2\pi i} \int_{\Gamma'} \frac{R(\lambda,A)}{\lambda+\mu} \, d\lambda. \end{split}$$

In particular, for $\mu = is \ (s \neq 0)$, we have

$$\begin{split} S(is) &= P_+(R(is, -A) - R(is, A)) \\ &= \frac{1}{2\pi i} \int_{\Gamma'} \left(\frac{1}{is + \lambda} - \frac{1}{is - \lambda} \right) R(\lambda, A) \, d\lambda \\ &= -\frac{1}{i\pi} \int_{\Gamma'} \frac{\lambda}{s^2 + \lambda^2} \, R(\lambda, A) \, d\lambda. \end{split}$$

Observe that

$$|a+be^{2i\theta}| \ge \sqrt{\frac{1+\cos(2\theta)}{2}} (a+b), \quad a,b \ge 0.$$

Therefore, taking (2.2) into account, there exist M, C > 0 such that

$$\begin{split} \|sS(is)\| &\leq \left\|\frac{1}{\pi i} \int_{\Gamma'} \frac{\lambda s}{s^2 + \lambda^2} R(\lambda, A) \, d\lambda\right\| \leq \frac{2}{\pi} \int_0^{+\infty} \frac{C|s|}{|s^2 + r^2 e^{2i\theta}|} \, dr \\ &\leq \frac{2C}{\pi} \sqrt{\frac{2}{1 + \cos(2\theta)}} \int_0^{+\infty} \frac{|s|}{s^2 + r^2} \, dr = M \sqrt{\frac{2}{1 + \cos(2\theta)}}. \end{split}$$

Now, basing on the estimates (3.6) and (3.7) we can prove Theorem 3.4 with the help of the Phragmén–Lindelöf theorem.

Proof of Theorem 3.4. Let $h(\mu) := \mu R(\mu, \tilde{A})$. Then h is holomorphic and continuous on $\overline{\mathbb{C}_+}$. Moreover, h is bounded on $i\mathbb{R}$ by Proposition 3.8. The estimate (3.6) shows that h is of subexponential growth on \mathbb{C}_+ . Thus Theorem 3.7 implies that h is bounded on \mathbb{C}_+ . This implies that \tilde{A} generates a bounded holomorphic C_0 -semigroup on X.

4. The semigroups associated with a bisectorial operator. Let A be an invertible, bisectorial operator on X. We consider the operators Q_{\pm} defined in the previous section, and the spectral projections $P_{\pm} = AQ_{\pm}$. Let \tilde{A} be the operator A twisted by P_{\pm} , and let $(\tilde{T}(t))$ be the holomorphic semigroup generated by \tilde{A} .

PROPOSITION 4.1. Define, for any t > 0,

$$T^+(t) := P_+ \tilde{T}(t), \quad T^-(t) := P_- \tilde{T}(t).$$

Then $T^{\pm}(t) \in \mathcal{L}(X)$ for all t > 0, and $T^{\pm}(t+s) = T^{\pm}(t)T^{\pm}(s), \quad t, s > 0.$

Moreover, $T^{+}(t)T^{-}(s) = T^{-}(t)T^{+}(s) = 0$ for all t, s > 0.

Proof. Since $\tilde{T}(t)X \subset D(\tilde{A}) \subset Z$, the operators $T^+(t)$ and $T^-(t)$ are bounded. Since Q_+ and Q_- commute with the resolvent of A, they also commute with $R(\mu, \tilde{A}) = P_+R(\mu, -A) + P_+R(\mu, A)$ (see Proposition 2.10). Consequently, Q_+ and Q_- also commute with $\tilde{T}(t)$. Hence also P_+ and $P_$ commute with \tilde{T} . This implies the semigroup property. Since

$$P_{-}x = x - P_{+}x, \quad x \in D(P_{+}) = D(P_{-}),$$

we have $P_+P_-x = P_-P_+x = 0$. This implies $T^+(t)T^-(s) = T^-(s)T^+(t) = 0$.

It follows from the definition that

$$\tilde{T}(t) = T^+(t) + T^-(t), \quad t > 0.$$

Moreover, $T^{\pm} \in C^{\infty}((0, +\infty), X)$ and

$$\frac{d}{dt}T^{\pm}(t) = \mp AT^{\pm}(t), \quad t > 0.$$

It follows that, for $x \in Z$,

(4.1)
$$\mp A \int_{0}^{t} T^{\pm}(s) x \, ds = T^{\pm}(t) x - x.$$

It is possible to express the semigroups T^{\pm} directly by a contour integral, without using \tilde{T} . Let $\omega < \theta < \pi/2$ as in Section 3.

PROPOSITION 4.2. One has, for t > 0,

(4.2)
$$T^{+}(t) = \frac{1}{2\pi i} \int_{\Gamma^{+}_{\theta,\varepsilon}} e^{-\lambda t} R(\lambda, A) \, d\lambda$$

(4.3)
$$T^{-}(t) = \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{-}} e^{\lambda t} R(\lambda, A) \, d\lambda.$$

Proof. For t > 0 let

$$S(t) := \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^+} e^{-\lambda t} R(\lambda, A) \, d\lambda \in \mathcal{L}(X).$$

If $x \in X_-$, then $R(\lambda, A)x$ has a holomorphic extension to \mathbb{C}_+ , as a consequence of Proposition 3.6. Hence S(t)x = 0 by Cauchy's Theorem.

Now let $x \in X_+$. Then replacing λ by $-\lambda$ we have

$$S(t)x = -\frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{-}} e^{\lambda t} R(-\lambda, A) x \, d\lambda = \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{-}} e^{\lambda t} R(\lambda, -A) x \, d\lambda$$
$$= \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{-}} e^{\lambda t} R(\lambda, \tilde{A}) x \, d\lambda = \tilde{T}(t) x = T^{+}(t) x$$

by the usual exponential formula for the holomorphic semigroup \tilde{T} . Hence $S(t)x = T^+(t)x$ for all $x \in Z$.

Now let $\lambda \in \rho(A)$. Since $R(\lambda, A)$ is injective from X into D(A), and $R(\lambda, A)$ commutes with $T^+(t)$ and S(t) for any t > 0, the statement follows by taking embeddings (2.3) into account. Indeed, for any $x \in X$ we have

$$S(t)x = (\lambda I - A)S(t)R(\lambda, A)x = (\lambda I - A)T^+(t)R(\lambda, A)x = T^+(t)x. \blacksquare$$

Even though $\tilde{T}(t) = T^+(t) + T^-(t)$ converges strongly to the identity as $t \to 0$ if A is densely defined, the norms of $T^+(t)$ and $T^-(t)$ blow up as t approaches to 0 whenever P_{\pm} is unbounded. More precisely, the following holds.

PROPOSITION 4.3. Let $x \in X$ and let A be densely defined. Then the limit $\lim_{t\to 0} T^+(t)x$ exists if and only if $x \in D(P_+)$ and, in this case, $\lim_{t\to 0} T^+(t)x = P_+x$. If P_+ is unbounded, then $\lim_{t\to 0} ||T^+(t)||_{\mathcal{L}(X)} = +\infty$.

Proof. If $x \in D(P_+)$, then $\lim_{t\to 0} T^+(t)x = \lim_{t\to 0} \tilde{T}(t)P_+x = P_+x$. Conversely, assume that $\lim_{t\to 0} T^+(t)x = y$. Since $\lim_{t\to 0} \tilde{T}(t)x = x$ and P_+ is closed, it follows that $x \in D(P_+)$ and $P_+x = \lim_{t\to 0} P_+\tilde{T}(t)x = \lim_{t\to 0} T^+(t)x = y$.

Now, assume that there exists $t_n \to 0$ such that $||T^+(t_n)||_{\mathcal{L}(X)} \leq C$. Then for $x \in D(P_+)$ one has $||P_+x|| = \lim_{n \to +\infty} ||T^+(t_n)x|| \leq C ||x||$. Since $D(P_+)$ is dense, it follows that P_+ is bounded. However, the following result (see [11, Lemma 1.2.3]) shows that the singularity of T^{\pm} at 0 is mild.

PROPOSITION 4.4 (Schweiker). There exists a constant C > 0 such that $\|T^{\pm}(t)\|_{\mathcal{L}(X)} \leq C |\log t|, \quad 0 < t \leq 1/2.$

Proof. Since $0 \in \rho(A)$, there exists a constant $M_1 > 0$ such that

$$\|R(\lambda, A)\|_{\mathcal{L}(X)} \le \frac{M_1}{1+|\lambda|}$$

for all $\lambda = re^{\pm i\theta}$, $r \ge 0$. Let Γ' consist of the two rays $\{re^{\pm i\theta} : r \ge 0\}$, where θ is chosen as in Section 3, directed downwards. Then, by Cauchy's Theorem,

$$T^{+}(t) = \frac{1}{2\pi i} \int_{\Gamma'} e^{-\lambda t} R(\lambda, A) \, d\lambda.$$

Hence there exists a positive constant M_2 such that, for $0 < t \le 1/2$,

$$\begin{aligned} \|T^{+}(t)\|_{\mathcal{L}(X)} &\leq \frac{1}{2\pi} 2M_{1} \int_{0}^{+\infty} e^{-rt\cos(\theta)} \frac{1}{1+r} \, dr = \frac{M_{1}}{\pi} \int_{1}^{+\infty} e^{-(s-1)t\cos(\theta)} \frac{ds}{s} \\ &= \frac{M_{1}}{\pi} e^{t\cos(\theta)} \int_{1}^{\infty} e^{-st\cos(\theta)} \frac{ds}{s} \leq \frac{M_{1}}{\pi} e^{\cos(\theta)/2} \int_{t}^{+\infty} e^{-r\cos(\theta)} \frac{dr}{r} \\ &\leq \frac{M_{1}}{\pi} e^{\cos(\theta)/2} \left(\int_{1}^{+\infty} e^{-r\cos(\theta)} \frac{dr}{r} + \int_{t}^{1} \frac{dr}{r} \right) \leq M_{1}(M_{2} - \log t). \end{aligned}$$

It is possible to define the semigroups T^+ and T^- directly by the contour integrals (4.2) and (4.3), without using \tilde{A} . This is what Schweiker has done in [11], where also the semigroup properties of T^+ and T^- are proved directly from these formulas and in particular the surprising estimate at the origin (cf. Proposition 4.4). Moreover, Schweiker proved in [11, Lemma 1.2.3] that, if $0 < \omega < \overline{\omega} := \inf\{|\text{Re}(\lambda)| : \lambda \in \sigma(A)\}$, then there exist $M_0^{\pm} > 0$ such that (4.4) $\|T^{\pm}(t)\|_{\mathcal{L}(X)} \leq M_0^{\pm} e^{-\omega t}, \quad t \geq 1.$

5. Squares and roots. In this section we investigate the square of a bisectorial operator. We use the following notion (cf. [7, Section 2.1]). An operator B on X is called *sectorial* if $(-\infty, 0) \subset \rho(A)$ and

$$||s(s+B)^{-1}||_{\mathcal{L}(X)} \le M, \quad s > 0$$

for some M > 0. We denote by

$$\varphi_{\text{sec}}(B) := \inf \{ \theta \in (0,\pi] : \sigma(B) \subset \Sigma_{\theta}, \sup_{\lambda \notin \Sigma_{\theta}} \|\lambda R(\lambda,B)\|_{\mathcal{L}(X)} < +\infty \}$$

the sectorial angle of B. Then $0 \leq \varphi_{\text{sec}}(B) < \pi$ (by a geometric series argument, see [7, Section 2.1] or [2, Corollary 3.7.12]).

Thus, the operator -B generates a bounded holomorphic semigroup if and only if B is sectorial and $\varphi_{\text{sec}}(B) < \pi/2$. We also recall that for each sectorial operator B there exists a unique sectorial operator $B^{1/2}$ such that $(B^{1/2})^2 = B$. Moreover, $\varphi_{\text{sec}}(B^{1/2}) = \varphi_{\text{sec}}(B)^{1/2}$ (see [7, Proposition 3.1.2]).

PROPOSITION 5.1. Let A be an operator.

- (i) If A is bisectorial, then A^2 is sectorial.
- (ii) If A^2 is sectorial, then $i\mathbb{R} \setminus \{0\} \subset \rho(A)$ and, if A is also invertible, then

$$\|R(is,A)\|_{\mathcal{L}(X)} \le M$$

for all $s \in \mathbb{R}$ and some M > 0.

Proof. For $s \in \mathbb{R} \setminus \{0\}$ we have

(5.1)
$$s^2 + A^2 = (A - is)(A + is).$$

(i) Assume that the operator A is bisectorial. Then it follows from (5.1) that $(s^2 + A^2)^{-1} = R(is, A)R(-is, A)$ and

$$\|s^{2}(s^{2} + A^{2})^{-1}\|_{\mathcal{L}(X)} \le (\sup_{s \neq 0} \|sR(is, A)\|_{\mathcal{L}(X)})^{2} < +\infty.$$

(ii) Assume that A^2 is sectorial and let $s \neq 0$. Then it follows from (5.1) that $(A - is)^{-1} = (A + is)(s^2 + A^2)^{-1}$. Assume, in addition, that A is invertible and let $M := \sup_{s \in \mathbb{R}} ||s^2(s^2 + A^2)^{-1}||_{\mathcal{L}(X)}$. Then

$$||A^{2}(s^{2} + A^{2})^{-1}||_{\mathcal{L}(X)} = ||I - s^{2}(s^{2} + A^{2})^{-1}||_{\mathcal{L}(X)} \le M + 1.$$

Hence

$$\|A(s^2 + A^2)^{-1}\|_{\mathcal{L}(X)} = \|A^{-1}A^2(s^2 + A^2)^{-1}\|_{\mathcal{L}(X)} \le \|A^{-1}\|_{\mathcal{L}(X)}(M+1).$$

Thus $(A+is)^{-1} = A(s^2 + A^2)^{-1} + is(s^2 + A^2)^{-1}$ is bounded.

However, if A^2 is sectorial, it does not follow that A is bisectorial. In fact, it may happen that $||R(is, A)||_{\mathcal{L}(X)} \ge C > 0$ for some constant C and all $s \in \mathbb{R}$.

EXAMPLE 5.2. Consider the operator $B = \tilde{A}$ from Example 2.11. Then $i\mathbb{R} \subset \rho(B)$, $\sup_{s \in \mathbb{R}} ||R(is, B)||_{\mathcal{L}(X)} < +\infty$, but

$$||R(ik,B)||_{\mathcal{L}(X)} \ge 1/\sqrt{2}$$

for all $k \in \mathbb{N}$. Thus B is not bisectorial. An estimate similar to the one given in Example 2.8 shows that B^2 is sectorial.

In Proposition 5.1(i) we have shown that, if A is a bisectorial operator, then A^2 is sectorial so that is possible to define its square root. In the following proposition we show that if A is also invertible, the square root of A^2 is the negative of the operator A twisted by its positive spectral projection.

THEOREM 5.3. For any invertible bisectorial operator A, the square root of A^2 is the negative of the P_+ -twisted version of A:

$$-\tilde{A} = (A^2)^{1/2}.$$

Proof. Let Q_{\pm} and P_{\pm} be defined as in Section 3. A change of variable and the resolvent identity show that

$$\begin{split} Q_{+} - Q_{-} &= \frac{1}{2\pi i} \bigg\{ \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A)}{\lambda} d\lambda - \int_{\Gamma_{\theta,\varepsilon}^{-}} \frac{R(\lambda,A)}{\lambda} d\lambda \bigg\} \\ &= \frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} \frac{R(\lambda,A) - R(-\lambda,A)}{\lambda} d\lambda \\ &= -2 \bigg(\frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} R(\lambda,A) R(-\lambda,A) d\lambda \bigg) \\ &= 2 \bigg(\frac{1}{2\pi i} \int_{\Gamma_{\theta,\varepsilon}^{+}} R(\lambda^{2},A^{2}) d\lambda \bigg) = \frac{1}{2\pi i} \int_{(\Gamma_{\theta,\varepsilon}^{+})^{2}} R(w,A^{2}) w^{-1/2} dw \\ &= (A^{2})^{-1/2}, \end{split}$$

where $(\Gamma_{\theta,\varepsilon}^+)^2 = \{z^2 : z \in \Gamma_{\theta,\varepsilon}^+\}$, and the last identity is the well-known formula for the square root [2, (3.51), p. 166]. It follows from Proposition 2.10 that $\tilde{A}^{-1} = -P_+A^{-1} + P_-A^{-1}$. Since P_+ and P_- commute with A, we have

$$\tilde{A}^{-1} = -P_{+}A^{-1} + P_{-}A^{-1} = -(Q_{+} - Q_{-}) = -(A^{2})^{-1/2}.$$

Hence $\tilde{A} = -(A^2)^{1/2}$.

6. Mild solutions. Let A be a closed, linear operator on X. Given $f \in L^1_{loc}(\mathbb{R}; X)$, in this section we study uniqueness of the solution for the problem

(6.1)
$$u'(t) = Au(t) + f(t), \quad t \in \mathbb{R},$$

and we give a representation formula for this solution in terms of the semigroups $(T^{\pm}(t))$ associated with A.

We say that a continuous function $u : \mathbb{R} \to X$ is a *mild solution* of (6.1) if $\int_0^t u(s) \, ds \in D(A)$ and

$$u(t) = u(0) + A \int_{0}^{t} u(s) \, ds + \int_{0}^{t} f(s) \, ds, \quad t \in \mathbb{R}.$$

In order to prove uniqueness of the solution of (6.1), we need a spectral condition on A and a growth condition on u.

DEFINITION 6.1. Let $g \in L^1_{loc}(\mathbb{R}; X)$. We say that g is polynomially bounded if

$$\|g(t)\| \le \alpha (1+|t|)^k, \quad t \in \mathbb{R},$$

for some $k \in \mathbb{N}$ and some $\alpha > 0$. The function g is called *weakly polynomially bounded* if

$$\int_{\mathbb{R}} \|g(t)\| (1+|t|)^{-k} \, dt < +\infty$$

for some $k \in \mathbb{N}$.

The notion of weak polynomial boundedness is clearly weaker than that of polynomial boundedness. Note that g is weakly polynomially bounded whenever $g \in L^p(\mathbb{R}; X)$ for some $1 \le p \le \infty$. Now we can prove the following.

PROPOSITION 6.2. Let A be a densely defined, closed and linear operator on X such that $i\mathbb{R} \subset \rho(A)$. Then there exists at most one weakly polynomially bounded mild solution u of (6.1).

Proof. Let u be a weakly polynomially bounded mild solution of (6.1) for f = 0. Then the Carleman spectrum of u, as defined in [2, Section 4.6], is empty. This is proved as the last six lines of the proof of [4, Theorem 2.7]. It follows from [2, Theorem 4.8.2] that u(t) = 0 for all $t \in \mathbb{R}$.

REMARK 6.3. Conversely, Schweiker [12, Theorem 1.1] showed the following. If, for each $f \in BUC(\mathbb{R}; X)$, there is a unique mild solution $u \in BUC(\mathbb{R}; X)$ of (6.1), then $i\mathbb{R} \subset \rho(A)$ and $\sup_{s \in \mathbb{R}} ||R(is, A)|| < +\infty$. She also showed that on Hilbert spaces this condition is sufficient for this type of well-posedness.

Now we assume that A is densely defined, bisectorial and invertible, and keep the notations of Sections 3 and 4. In particular, we consider the semigroups $(T^+(t))$ and $(T^-(t))$ associated with A. Recall (see Proposition 4.4 and estimate (4.4)) that there exist $\omega > 0$ and C > 0 such that

$$||T^{\pm}(t)|| \le C(1+|\log(t)|)e^{-\omega t}, \quad t>0.$$

Let $f \in L^1_{loc}(\mathbb{R}; X)$ be weakly polynomially bounded. Then the function $u : \mathbb{R} \to X$ given by

(6.2)
$$u(t) := \int_{-\infty}^{t} T^{-}(t-s)f(s) \, ds - \int_{t}^{+\infty} T^{+}(s-t)f(s) \, ds$$

is continuous and weakly polynomially bounded. Indeed, we have

$$\begin{split} \int_{\mathbb{R}} (1+|t|)^{-k-2} \bigg\| \int_{t}^{+\infty} T^{-}(t-s)f(s) \, ds \bigg\| \, dt \\ &\leq \int_{\mathbb{R}} (1+|t|)^{-k-2} \int_{-\infty}^{t-1} \|T^{-}(t-s)\| \, \|f(s)\| \, ds \, dt \\ &+ \int_{\mathbb{R}} (1+|t|)^{-k-2} \int_{t-1}^{t} \|T^{-}(t-s)\| \, \|f(s)\| \, ds \, dt \\ &= I_1 + I_2. \end{split}$$

Now let

$$c(f) := \int_{-\infty}^{+\infty} \|f(t)\| (1+|t|)^{-k} \, dt < +\infty.$$

Then we have

$$I_1 \le C \int_{\mathbb{R}} (1+|t|)^{-k-2} \int_{-\infty}^{t-1} (1+|\log(t-s)|) e^{-\omega(t-s)} \times (1+|s|)^k ||f(s)|| (1+|s|)^{-k} \, ds \, dt.$$

Since

$$C_{2} := \sup_{t \in \mathbb{R}} \sup_{s \le t-1} (1 + |\log(t-s)|) e^{-\omega(t-s)} \frac{(1+|s|)^{k}}{(1+|t|)^{k}}$$

$$\leq \sup_{t \in \mathbb{R}} \sup_{r \ge 1} (1 + \log(r)) e^{-\omega r} \frac{(1+|t|+r)^{k}}{(1+|t|)^{k}}$$

$$\leq \sup_{r \ge 1} (1 + \log(r)) e^{-\omega r} (1+r)^{k} < +\infty,$$

it follows that

$$I_1 \le Cc(f)C_2 \int_{\mathbb{R}} (1+|t|)^{-2} dt = 2Cc(f)C_2.$$

On the other hand, we can estimate I_2 by changing the order of integration:

$$I_2 \le C \int_{\mathbb{R}} \|f(s)\| \int_{s}^{s+1} (1+|t|)^{-k-2} (1+|\log(t-s)|) e^{-\omega(t-s)} dt \, ds \le Cc(f)C_3,$$

where

$$C_{3} = \sup_{s \in \mathbb{R}} (1+|s|)^{k} \int_{0}^{1} (1+|r+s|)^{-k-2} (1+|\log(r)|) dr$$

$$\leq \sup_{s \in \mathbb{R}} \sup_{0 \le r \le 1} (1+|s|)^{k} (1+|r+s|)^{-k-2} \int_{0}^{1} (1+|\log(r)|) dr < +\infty.$$

Analogously, one can prove the same for the second term on the right-hand side of (6.2).

Finally, we can prove the following.

THEOREM 6.4. Assume that $f \in L^1_{loc}(\mathbb{R}; X)$ is weakly polynomially bounded. Then the function u defined by (6.2) is the unique weakly polynomially bounded mild solution of problem (6.1).

Proof. Let u be defined by (6.2). To show that u is a mild solution we consider the function v given by $v(t) := A^{-1}u(t)$. It suffices to show that

$$v(t) = v(0) + A \int_{0}^{t} v(s) \, ds + \int_{0}^{t} A^{-1} f(s) \, ds.$$

Note that, by definition,

$$v(s) = \int_{-\infty}^{s} T^{-}(s-r)A^{-1}f(r)\,dr - \int_{s}^{+\infty} T^{+}(r-s)A^{-1}f(r)\,dr.$$

Hence, by Fubini's Theorem,

$$\int_{0}^{t} v(s) \, ds = \int_{-\infty}^{0} \int_{0}^{t} T^{-}(s-r)A^{-1}f(r) \, ds \, dr + \int_{0}^{t} \int_{r}^{t} T^{-}(s-r)A^{-1}f(r) \, ds \, dr - \int_{0}^{t} \int_{0}^{r} T^{+}(r-s)A^{-1}f(r) \, ds \, dr - \int_{0}^{+\infty} \int_{0}^{t} T^{+}(r-s)A^{-1}f(r) \, ds \, dr.$$

Since A is closed we obtain, by (4.1), for t > 0,

$$\begin{split} A \int_{0}^{t} v(s) \, ds &= \int_{-\infty}^{0} \left(T^{-}(t-r)A^{-1}f(r) - T^{-}(-r)A^{-1}f(r) \right) dr \\ &+ \int_{0}^{t} \left(T^{-}(t-r)A^{-1}f(r) - P_{-}A^{-1}f(r) \right) dr \\ &- \int_{0}^{t} \left(P_{+}A^{-1}f(r) - T^{+}(r)A^{-1}f(r) \right) dr \\ &- \int_{0}^{t} \left(T^{+}(r-t)A^{-1}f(r) - T^{+}(r)A^{-1}f(r) \right) dr \\ &= v(t) - \int_{-\infty}^{0} T^{-}(-r)A^{-1}f(r) \, dr - \int_{0}^{t} A^{-1}f(r) \, dr + \int_{0}^{+\infty} T^{+}(r)A^{-1}f(r) \, dr \\ &= v(t) - \int_{0}^{t} A^{-1}f(r) \, dr - v(0). \bullet \end{split}$$

Our point is the representation formula (6.2). In special cases it had been proved before. Lunardi [8, (4.4.26), p. 164] gave a proof when A generates a holomorphic semigroup, and Schweiker [11, Chapter 2] gave a different proof if $f \in BUC(\mathbb{R}; X)$ and A is densely defined. Here we do not address the question of maximal regularity. This was done in previous work with the help of multiplier theorems. In fact, in [1] it is shown that for each $f \in C^{\alpha}(\mathbb{R}; X)$ there exists a unique classical solution $u \in C^{1+\alpha}(\mathbb{R}; X)$ of (6.1), where $\alpha \in (0, 1)$. Since a classical solution is also a weak solution we now have a representation formula for this solution. On the other hand, with the help of the representation formula (6.2) one can prove that $u \in C^{1+\alpha}(\mathbb{R}; X)$ for $f \in C^{\alpha}(\mathbb{R}; X)$ more directly as in [8, Theorem 4.3.1] without making use of Fourier multiplier theorems. This is done in [13].

In the L^p -context the following is known. Let $p \in (1, +\infty)$. If X is a Hilbert space and $f \in L^p(\mathbb{R}; X)$, then there exists a unique strong solution $u \in W^{1,p}(\mathbb{R}; X) \cap L^p(\mathbb{R}; D(A))$ of (6.2) (see [4] or [10]). Again we can deduce that u is given by 6.1. If X is a UMD-space this result remains true if A is R-bisectorial (instead of merely sectorial, see [4]).

Acknowledgments. We are grateful to Fulvio Ricci and Giovanni Dore who inspired us to obtain the results on squares and roots as presented in Section 5.

References

- W. Arendt, C. J. K. Batty and S. Bu, Fourier multipliers for Hölder continuous functions and maximal regularity, Studia Math. 60 (2004), 23–51.
- [2] W. Arendt, C. J. K. Batty, M. Hieber and F. Neubrander, Vector-Valued Laplace Transforms and Cauchy Problems, Monogr. Math., Birkhäuser, 2001.
- W. Arendt and S. Bu, Sums of bisectorial operators and applications, Integral Equations Operator Theory 52 (2005), 299–321.
- W. Arendt and M. Duelli, Maximal L^p-regularity for parabolic and elliptic equations on the line, J. Evol. Equations 6 (2006), 773–790.
- [5] J. B. Conway, Functions of One Complex Variable, Springer, New York, 1973.
- [6] G. Dore and A. Venni, Separation of two (possibly unbounded) components of the spectrum of a linear operator, Integral Equations Operator Theory 12 (1989), 470–485.
- [7] M. Haase, The Functional Calculus for Sectorial Operators, Oper. Theory Adv. Appl. 169, Birkhäuser, Basel, 2006.
- [8] A. Lunardi, Analytic Semigroups and Optimal Regularity in Parabolic Problems, Birkhäuser, Basel 1995.
- [9] A. McIntosh and A. Yagi, Operators of type ω with a bounded H_∞ functional calculus, in: Miniconference on Operators in Analysis (Sydney, 1989), Austral. Nat. Univ., Canberra, 1990, 159–172.
- [10] A. Mielke, Über maximale L^p-Regularität für Differentialgleichungen in Banach und Hilbert Räumen, Math. Ann. 277 (1987), 121–133.

- [11] S. Schweiker, Asymptotics, regularity and well-posedness of first- and second-order differential equations on the line, Ph.D. thesis, Ulm, 2000; http://cantor.mathematik. uni-ulm.de/m5/arendt/downloads/schweiker.ps.
- [12] —, Mild solutions of second-order differential equations on the line, Math. Proc. Cambridge Philos. Soc. 129 (2000), 129–151.
- [13] A. Zamboni, Maximal regularity for evolution problems on the line, Differential Integral Equations 22 (2009), 519–542.

Wolfgang ArendtAlessandro ZamboniInstitute of Applied AnalysisDipartimento di MatematicaUniversity of UlmUniversità degli Studi di ParmaHelmholtzstr. 18via G. P. Usberti 53/A89081 Ulm, Germany43100 Parma, ItalyE-mail: wolfgang.arendt@uni-ulm.deE-mail: zambo1903@virgilio.it

Received July 21, 2008 Revised version December 7, 2009

(6387)